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G Y kil AMLEAE (L2 EAE | BIFER | Qb
Sk M 205 T C mg/L mg/L mg/L mg/L
109.01.03 8.1 21.4 <1.0 8.3 21.6 <1.0
109.02.21 8.0 21.3 <1.0 11.2 10.3 <1.0
109.03.27 7.9 26.4 <1.0 N.D. 5.1 <1.0
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. R Wi | A |, | . L2720 . ET
BRER KB PH | BE| |y | SR | BE | HERE | | AR | QR H8RS | ot B8 | ais | s 4 47
109.02.27 T — |PSU|mg/L| mg/L |mg/L| NTU | mg/L |mg/L| mg/L img/L| mg/L | mg/L | mg/L | mg/L | pg/L | mg/L mg/L mg/L
- 09:22~09:28 <0.0050
= L
BEKE 1 (3 ) 23.0(83(33.7(244| <10 | 5.8 |120| 0.05 {0.01]| 0.10 |0.59 | 0.027 | 0.039 | 0.126 | <1.0 | 8.16 (0.0017) N.D. N.D.
- 10:52~11:00 <0.0050 | <0.0010 | <0.0010
= L
K E 2 (3 ) 245(83|335(154| <10 | 56 | 9.2 | 0.07 [0.01| 0.05|0.58| 0.022 | 0.028 | 0.163 | <1.0 | 7.23 (0.0036) | (0.0008) | (0.0006)
5 09:40~09:48 <0.0050
% K E 3 (3 ) 228(83|33.8(151| <10 | 59 |11.0| 0.05 {0.01| 0.08 |0.50| 0.032 | 0.037 | 0.213 | <1.0 | 8.12 (0.0019) 0.0149 N.D.
- 1 I 10:03~10:10 <0.05 <0.0050
B BEKE 4 (3 ) 23.4|83|336(208| <10 | 59 | 6.5 (0.03) 0.01 | 0.08 | 0.42 | 0.024 | 0.029 | 0.194 | <1.0 | 6.49 (0.0027) 0.0029 N.D.
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= L
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= L
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BAERE - . 5
| HE 1 (it %) 241|83|333({111| <10 | 55 | 75 (0.04) 0.01 | 0.07 | 0.67 | 0.019 | 0.022 | 0.151 | <1.0 | 6.96 (0.0020) N.D. N.D.
b3
s s 11:43~11:50 <0.05 <0.0005 <0.0010
2EF EX A
z BHE 2 (3 ) 242|83(33.2(126| <1.0 | 54 | 4.0 (0.04) 0.01 | 0.09 | 0.49 | 0.023 | 0.030 | 0.126 | <1.0 | 6.34 (0.0024) 0.0010 (0.0005)
i)
] IR 12:03~12:10 <0.05 <0.0050 <0.0010
- BHE 3 (Gt %) 244182|331(135| <10 | 52 | 85 (0.04) 0.01 | 0.08 | 0.54 | 0.026 | 0.027 | 0.126 | <1.0 | 5.76 (0.0032) 0.0016 (0.0008)
MDL & — — | — 10| 10 — | 0.05| 0.01 (0.002|/0.020|0.10 | 0.002 | 0.002 | 0.035 | 1.0 | 0.03 | 0.0016 | 0.0004 | 0.0004
LB ARAKTRE - 7é55~ — — | <3.0 |>5.0| — — — — — — — — — — 0.50 0.01 0.03
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PH- €28 (K 45 88 5 82 & 4%) A% > BN EwE 21 BRI RF

T RE 22~29 - AFERFA[ KL
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0 200 m 3
& %
= » o Tt
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IR B E R
BZ ) 8% P 109.03.10 MDL 1& | 1385 FE-R42 2
% R9A B E S 2+

pH 8.8 8.9 — —
& (mg/kg) 6.93 7.04 0.112 30
& (mg/kg) N.D. N.D. 0.029 10
&(ma/kg) <0.33(0.08) N.D. 0.08 10
44 (mg/kg) 12.9 12.8 2.02 175
4R (mg/kg) <6.67(2.16) <6.67(2.04) 1.60 220
4% (mg/kg) 13.3 13.2 1.10 130
£4(mg/kg) <6.67(6.27) <6.67(6.27) 0.81 1,000
£ (mg/kg) 36.8 36.3 1.94 1,000
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